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1. e -
(1) 4T3 @#AEHE (grid computing) ?  (5%)
(2) P ETAER A2 " E AL (virtwalization) ; 7 (5%)
(3) 1R AR#% % 5 42 4% (service-oriented architecture, SOA) 7  (5%)

2EXBBRETHHCEHFR BT S EAHEA (revenue model) » 353,87 ¢
(1) 4T/ 3IT M A KX (subscription revenue model) 7 (5%)
(2) 1738 F 4% &M A X (transaction fee revenue model) ?  (5%)
(3) 1T Ve A B X (affiliate revenue model) ?  (5%)

3. WA
(1) 4738 E¥M & (bullwhip effect) ?  (5%)
Q) BRAERBUEFNBORRARLE? (5%)
G) RAAKRTHRIBALRBARBYUBNE? FR-AR LT E
WERHZ - (10%)

4 AREBMEEBITARRASMEAFOEREAS » H0 ¢
(1) #T38 TR K A 4 (expertsystem) | ? FR—HHWA2 - (10%)
(2) 748 " BAAP£E M (neural networks) | T HER—FHHIMAZ o (10%)

5. EMAAQDARMBAYERAERER  REBHAHACANMBEEZUSR £L0 L
HHUEERY  BHONARTNARETERL AN @HEGE PRI
(dis-intermediation) &4 g2 % -

(1) MREEY A LSRR L THZHMAMERRAEAFTBREBE  #12A NG
Bk PRI E r HHEEHRE - (10%)

(2) #F#& " H M KX AIH (openinnovation) | ¥ B E  BBBIEF X RNFA Q%
TEEARE SN Tk fTAIH Ao RASERREA - (20%)
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